
Divide by 10⁻³ (B)Find each quotient.
42 ÷ 10⁻³ = 88 ÷ 10⁻³ =
50 ÷ 10⁻³ = 91 ÷ 10⁻³ =
85 ÷ 10⁻³ = 18 ÷ 10⁻³ =
68 ÷ 10⁻³ = 45 ÷ 10⁻³ =
13 ÷ 10⁻³ = 90 ÷ 10⁻³ =
26 ÷ 10⁻³ = 71 ÷ 10⁻³ =
45 ÷ 10⁻³ = 69 ÷ 10⁻³ =
68 ÷ 10⁻³ = 49 ÷ 10⁻³ =
87 ÷ 10⁻³ = 74 ÷ 10⁻³ =
76 ÷ 10⁻³ = 6 ÷ 10⁻³ =
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Divide by 10⁻³ (B) AnswersFind each quotient.
42 ÷ 10⁻³ = 42,000 88 ÷ 10⁻³ = 88,000
50 ÷ 10⁻³ = 50,000 91 ÷ 10⁻³ = 91,000
85 ÷ 10⁻³ = 85,000 18 ÷ 10⁻³ = 18,000
68 ÷ 10⁻³ = 68,000 45 ÷ 10⁻³ = 45,000
13 ÷ 10⁻³ = 13,000 90 ÷ 10⁻³ = 90,000
26 ÷ 10⁻³ = 26,000 71 ÷ 10⁻³ = 71,000
45 ÷ 10⁻³ = 45,000 69 ÷ 10⁻³ = 69,000
68 ÷ 10⁻³ = 68,000 49 ÷ 10⁻³ = 49,000
87 ÷ 10⁻³ = 87,000 74 ÷ 10⁻³ = 74,000
76 ÷ 10⁻³ = 76,000 6 ÷ 10⁻³ = 6,000
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